QUESTION 5

Imagine we extend the study on Informatics students to have 4 variables, with the following summary

statistics.

\Variable \Mean \Sample standard deviation
Drink (Tea -1, Coffee - 9) 5 2

\Language (Haskell - 1, Java - 9) \6 \2

Platform (Teams - 1, Collaborate -9)|3 |1

IData science (Hates- 1, Loves-9) |7 |2

We ensure that all of the data is standardised and run PCA on the data to give the following loadings of the

first two principal components:

\Variable |PC1 loadings ]PCZ loadings
Drink 0.5 0.5
lLanguage [0.5 0.5
Platform  |-0.5 0.5
IData Science |-0.5 0.5

A student has the following characteristics:

Drink: 7
Language: 6
Platform: 1
Data Science: 9

Indicate the coordinates of their principal component scores in the plot.
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QUESTION 6

This question uses the same data and principal component loadings as the question above. We are given the
following principal component scores for a student:

® PC1=2
e PC2=-1

What is the value of the student's preference for data science that we can reconstruct from these scores?
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